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Exi

(s -i) + (ii) =(ii)
= (io-)

=
=(

=(i) =(



#3)+ (5) = undefined
the sizesE0 u don't

- 2x2 match

3x2 up

---

I

ef : Let A be an mxr
Matrix

andB be an rxn
matrix.

We define the product
AB
-

to be the mxn
matrix C

whose entry
in row i and

column j is equal
to the

dot product of row
i from A

and column J from
B.



↳
-

Ex : Calculate AB , if possible ,
-

When A = (15) and B = (d)

# = (8)(ii)
②X 2 2x5

&

same#
answer is 2x3



Crow 1 of A) : Crow 1 of A) : Crow / of Al

(2011 of B) (col 2 of B) Cool3 of Bl

--

I I 1121
· (6) (1210(2) (I 2· ()

I-100(b) (10(3)7 %/
- L
-

Crow 2 of A) Crow 2 of Al. Crow 2 of A

Scold of B) (col2 of B) (col3 of B)

(1)(1) + (2)(0) (1)(2) + (2)(1) (1)(- 1) + (2)(0)

= ( I( ((( i ) + (0)(0) (-11(2) + (0)(1) (- 1)( - 1) + 01/d

S
14 + )=

- -21



E: Using the same matrices

A = (+, 5) and B = (635 (
can we calculate BA ?

definedBA&L 37 2

2x32X2
[
not the

same

Let's try to multiply anyways
.

Why doesn't it
work ?



Li
Crow 1 of B)
(col 1 of A)

I 2 - 1) . ( )
- &
T

(
can't calculate thatYou

dot product .

That's why

the mult. of
BA is undefined.



Ex: Calculate

it ⑫weris 2x1
- I

-x
2x2-#

of M) .
S of N

-

(13 1 : (2)
MN= & ( 17) · (2) (ii)
-

So



E With matrices the equation

AB = BA is At always true ,

For example , A = (0 : ) , B = (98)

AB = (0)(ii) = 188) G equal
BA = (i)(ji) = (98)
So , ABFBA

in this case .



&

lef : Let A be an mxn

matrix. TheTranspose
of A,

denoted by AT, is defined

to be the nxm matrix

whosei-th now equals

the i-th column of A.

Or you could say that the

j-th column of At is

the j-th row of A.

Youre[
interchanging ]the rows and columns



·
)
↳



Lef; The man zero matrix
S-

denoted by Omen or just OS

is the men matrix whose

entries are all zero

-

EX :

Tx= (0 I 0x = (
8 O 8 G

03x4 = 1000 %000 0

=x : A = (3)
A + 02xz= (ii) + (08) = (34)

= A



02xz + A
=(8) + (5) = (5) = A

So
, A + 0xxz = A

82xz + A = A

-et: The nxn Identitymatrix,
denoted by In or just I,

is the nen
matrix whose

main diagonal contains
all Is

and all other entries are 0's.

-

Exi

I = (1)

=
z
= (bi)



I g ⑧

13 = 0 8(
g O I

I
I 00

&

O 10 8

In = I o 0 1 0 &
g 00

and so on...


